# **APPENDIX A: ASSESSMENT COVER SHEET**



### ASSESSMENT COVER SHEET

G.					
Surname	Ndhlozi				
First Name/s	Busisiwe Innocentia				
Student Number	194539				
Subject	Statistical Techniques in Business				
Assessment					
Number	1				
Tutor's Name	Bhivek Singh				
Date Submitted	18 September 2023				
Submission (✓)	First Submission	<b>✓</b>	Resubmissi	ion	
	7219 Ext 8		-1		
	Stanfield				
<b>Postal Address</b>	Standerton				
				2430	
				1	
E-Mail	BMaphumulo@lekwalm.gov.za				
	017 712 9635		(Work)		
	079 565 5414		(Home)		
<b>Contact Numbers</b>	066 187 4521		(Cell)		
Course/Intake	ADVANCE DIPLOMA IN BU	USINESS	S MANAGE	EMENT	

**Declaration**: I hereby declare that the assignment submitted is an original piece of work produced by myself.

# TABLE OF CONTENTS

Questio	n 1	1
(i)	Finding the value of Z	1
(ii)	Estimated mean time of the training session	1
(iii)	Median	2
(iv)	Mode	2
(v)	Skewness of the data	2
(vi)	Standard deviation	3
Referen	ces	

### **Question 1**

Data

Length of training session (minutes)	Frequency (f)	
20 < 40	7	
40 < 60	11	
60 < 80	Z	
80 < 100	9	
100 < 120	5	
120 < 140	2	
Σ	50	

# (i) Finding the value of Z

$$\Sigma f = 50$$

$$7 + 11 + Z + 9 + 5 + 2 = 50$$

$$34 + Z = 50$$

$$Z = 50 - 34$$

$$Z = 16$$

shown!

# (ii) Estimated mean time of the training session

 $Midpoint = (Lower \ limit + Upper \ limit) \ / \ 2$ 

Length of training session (minutes)	Frequency (f)	Cumulative Frequency (F)	Midpoint (m)	fm
20 < 40	7	7	30	210
40 < 60	11	18	50	550
60 < 80	16	34	70	1120
80 < 100	9	43	90	810
100 < 120	5	48	110	550
120 < 140	2	50	130	260
Σ	50			3500

$$\bar{x} = \frac{\sum fm}{\sum f} = \frac{3500}{50} = 70.0$$

#### (iii) Median

Median position  $=\frac{\sum f}{2} = \frac{50}{2} = 25^{th}$  minute

$$\text{Median value} = L + C \left( \frac{\frac{\sum f}{2} - F_{<}}{f_{me}} \right)$$

L = lower limit of the median class

C = class width (upper limit - lower limit)

 $F_{<} =$  cumulative frequency of the classes before the median class

 $f_{me}$  = frequency of the median class

Median value = 
$$60 + 20 \left( \frac{\frac{50}{2} - 18}{16} \right) = 60 + \frac{20(25 - 18)}{16} = 60 + \frac{20(7)}{16} = 68.75$$

#### (iv) Mode

Mode is the class with the highest frequency.

$$Mode = L + \frac{C(f_m - f_{m-1})}{2f_m - f_{m-1} - f_{m+1}}$$

L = lower limit of the modal class

C = class width

 $f_m$  = frequency of modal class

 $f_{m-1}$  = frequency of the class just before the modal class

 $f_{m+1}$  = frequency of the class just after the modal class

Modal value = 
$$60 + \frac{20(16 - 11)}{2(16) - 11 - 9} = 60 + \frac{100}{12} = 68.333$$

#### (v) Skewness of the data

The data is positively skewed. This is because mode < median < mean.

### (vi) Standard deviation

Length of training session	Frequency	Midpoint	fm	fm <sup>2</sup>
(minutes)	<b>(f)</b>	(m)		
20 < 40	7	30	210	6300
40 < 60	11	50	550	27500
60 < 80	16	70	1120	78400
80 < 100	9	90	810	72900
100 < 120	5	110	550	60500
120 < 140	2	130	260	33800
Σ	50		3500	279400

Standard deviation (SD) =  $\sqrt{\text{Variance}}$ 

$$Variance = \frac{\sum f m^2 - n\bar{x}^2}{n-1} \qquad \qquad n = \sum f$$

$$Variance = \frac{279400 - 50 * 70^{2}}{50 - 1} = \frac{279400 - 245000}{49} = \frac{34400}{49} = 702.0408163$$

$$SD = \sqrt{702.0408163} \approx 26.50 \text{ minutes}$$

#### References

Anderson, D.R., Sweeney, D.J., Williams, T.A., Camm, J.D. and Cochran, J.J., 2020. Modern business statistics with Microsoft Excel. Cengage Learning.

Baron, M., 2019. Probability and statistics for computer scientists. CRC press.

Black, K., 2023. Business statistics: for contemporary decision making. John Wiley & Sons.

Gupta, A., 2021. Business statistics. RAJEEV BANSAL. Black, K., 2023. Business statistics: for contemporary decision making. John Wiley & Sons.

Keller, G., 2022. Statistics for management and economics. Cengage Learning.

Baron, M., 2019. Probability and statistics for computer scientists. CRC press.

Anderson, D.R., Sweeney, D.J., Williams, T.A., Camm, J.D. and Cochran, J.J., 2020. Modern business statistics with Microsoft Excel. Cengage Learning. Baron, M., 2019. Probability and statistics for computer scientists. CRC press.